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(ªAq� 4) : 1 �§rm�

¨l§ Am� R Tyqyq���  �d�±� T�wm�� Yl� T�r`m�� R T�®`��  � 
b�� (1

∀x, y ∈ R : xRy ⇔ xey = yex.

.¥�Aþþk� T�®� Ah��

.x ¥�Ak� �n} d�¤� R ¨� 
�A� x ��� �� (2

(ªAq� 6) : 2 �§rm�

¨l§ Am� R Tyqyq���  �d�±� T�wm�� Yl� T�r`m�� f T��d�� �kt�

f (x) =

 3
√
x− 2x+ 5 si x > 4

(x+ k)2 si x ≤ 4

.4 TWqn�� dn� ­rmts� f T��d��  wk� Ahl�� �� ¨t�� Tyqyq���  �d�±� T�wm� ¨� k �y� d�¤�

(ªAq� 10) : 3 �§rm�

u3 = (1, 1,−1) ¤ u2 = (2,−2,−1) , u1 = (1, 1, 1) �ky�

. F = 〈(u1, u2)〉 ¤ E = {(x, y, z) ∈ R3, y + z = 0} �kt��¤

.E þ� xAF� d�¤� �� R3 �� ¨¶z� ¨�A`J ºAS� E  � 
b�� (1

?u3 ∈ F �¡¤ ?AyW� Tlqts� (u1, u2, u3) Tlm��� �¡ 2

? u3 ∈ E �¡ 3

.E ∩ F ºASfl� xAF� d�¤� 4

u4 ∈ F �¡ ? u4 ∈ E �¡ ,u4 = (−1, 7, 5) �ky� 5
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